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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the
average went up by 2 yr. Find the actual average
age of the class.
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51.

52,

53.

54,

. ; ‘ PART-B
Y | MATHEMATICS : 100 Marks

Instructions : Each question under this section carries' TWO marks. Please read the quemoné

carefully and answer them by selecting the correct answer out of the multiple answers given
below each as A, B, C and D.

There shall be negative marking @ 0.5 mark per question for wrong/multiple answers.

If a number is increased by, 25% and thcn dccrea_sed by 25%, ﬁnd' out thepercentage of
mcreasc!decrease of f‘ nal value of the numbcr o _ »
(A) Increase by 62 " % _ ; (B) Decrease by 6 :1_1- %
§ . 2 3 .
(C) Increase by 93 -3- % o (D) Decrease by 93 = ‘V

00 NG qeay| S0QQl 25 Q@GN ‘GQ° @[E]GGI Llelsiel 25 QIQ aIv; 6069 @aMIda QwIg fm G}Oﬁ?@
EREQ G’Q Ql Q1A 699 7

(A)6 %98 B Uk ‘(B)sg%gjq

(©)932% e S B e -_'(D)93§%@|g

‘-hlw

A person’s present agc is three—ﬂﬁh of the age of h|s mother After 8 years he will be two-third
of the age of his mother. How old is mother at present?

@68l 9‘[%@! lofalla) QQQ @IG? Alela Q0da oa-aanre | 8 9@ GGQ Olet dd oI mam el
0@—?910,%1 629 | Qﬁlﬂl'ﬁ‘ Ql&r malm QL GG?GG 7

(A)36years . " - ~ (B) 38.years
(C)40years ¥ (D) 42 years

Fmd the greatest 3-digit number Wthh when dwlded

by 5, 6 and 7 leaves a remainder of 3 in
each case, ' : :

-~

codl Bhzw 35 QAN AeHIQ S, 68" 7 qml am QEM QUCESE PR CHQER 3 6Q@?
(A) 999 : " (B)943

843 - L (D)sdo

‘A train running at the speed of 60kmlhr crosses a smgle pole in 12 seconds Find the length of‘
the tram :

6915 696 Q& g 60 @.8. coqeq a5 @89l AngEq Ve @1@@ 12 see%ea A9 QR | 656
350 il 6Q60? -

(A) 80m ‘ o (B) 100m

(C)120m o  (DY200m
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55. A shopkeeper sells two articles at Rs. 600 each, making a profit of 20% on the first article and a
loss of 20% on the sccond article, Find the net profit/loss that he makes.

(A) 4% Loss (B) 2% Loss
(C) 1% Profit - (D) No profit or Loss

GCE COIRIRT QARG QNIQ G6R1e 600 Cca AF FA gER Q916a §9ael 20 AIA G Go15; QaY6Q
9901 20 88 693 | 6O6Q 6a QIPAR 646o AR HrY 86 ARA 7

(A)d%ss (B) 2% 6@

€) 1% QQ "(D)Aa 9 8d fIg

56. Thesalary of X, Y and Z are in the ratio 5: 3 : 1. The sal'ary of X and Y together is Rs 7200. By
what percent is salary of X more than that of Z 7 :

X, Y8 ZQoqaiq 2ale 5:3:11 X8 Y @ Y99 Q68 QQAl 7200 661 | X Q @adl Z @
QQAI0IQ Q0] 6RO AR ? ‘ |

(A)100% - (B) 200%

(C) 300% . (D) 400%

57. A sum of money amounts to Rs. 7200 after 6 years and Rs. 9900 after 9 years at the same rate of
- simple interest. Find out the rate of interest, '

Yo ARYA AR daRddl QIasa 6 edea 7200 ¢ e 9 @dea 9900 ¢a1 QY | 6060 A qua

QIa 6960 7 Y & : - /
(A)30% _ ~ (B)40%
(C) 50% - : (D) 60%

58. If5%¥7Y=125,2%*Y= 128, then find the value of 22 - yz_?.
€Q 5% ¥Y=125, 2X*¥= 128,606Q x? - y2Q Aa 6966 ?

(A) 35 ' (B)él y ; | (€7 i (D)o

59. Determine the value of ‘a’ wheny59= 25
A3 V59=25 Q. 6069 ‘a’ Q IRy 6960 7

(A)3 (B)6 (OL \ Dy .

.60, A person'takes 30 minutes more to cover a certain distance by decreasing his speed by 40%.
What is the time taken to cover the distance at his original speed?

Q66 18 Y9 AFE QARIQ 289N AR CIE 61 GIGR 66l I0Q0I 40 QAIREA 30 ARe 2e Fad |
606@ ¢a @ R €TEA G0 AT, 606@ ¢ad QAPIQ ATFA FAQI AR €ALE AL, AFQ?

(AYhr ®)3hr (C) 1 hr D)l Zhrs



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

61. 20 men and 25 women together can complete a work in 5 days. It takes 150 dﬁys for one man
alone to complete the work. How many days will be required for one woman to complete the
same work?

20 06 998 6 25 @8 A1 CAITY Qlalg 5 DRca 6a8 @B | acel gaEg YAIN anle Qal a8
QARIQ 150 GR RICE | 666Q Q68 1Y YAIRT AAIR QIaT ca8 aRIQ caee @R AITR ?

- (A) 300 : (B) 325
(C) 350 L (D) 375

62. A rectangular block, having length, breadth and height 16em, 12cm and 8cm respectively, is cut
into an exact number of equal cubes. Find the least possible number of cubes.
69T A9RQ aQle), QI cQcH, gd 6 QRQl elgsr 16 caf., 12 6afl. ¢ 8 GE]PI Q IR ’

OG?‘ AR NI AAYRER AREe QAU | 6969 GIG‘G“F], Araeaq 46l ewee ?

Fian

A8 (B)24 .. (©)30 (D) 36

63. If x>y, x#-y-_=3_6 andi+i=§, then find out the value ofixandy,? e
a@ x>y,_x+y=363nd%+i=%,€@€9x@yaﬂm €R6Q 7

(A)27,9 ' ' Ta (B) 24, 12
(C) 18,18 R B . (D)36,0

64. If 15 men working for 8 hours a day can plough a field in 36 days, in how i*nany days will 9 men
working for 12 hours a day can plough the same field ?

0@ 15 06 9Q8 80 8 Q& GRAIT Q1A 6A Yo afQ 36 Grea GI8 KACIAE ; €96 9 @8 gaqs
A0Q 12 a&l 6REIN QIR Q6R 6ad BAQ 6960 3rca I8 @REIde ?
(A) 32  (B) 36 | Ce (@40 (D) 45

65. Ifthe external and internal c:rcumfcrence of a circular road is 396m and 352m respectively, then '
what is the width of the road? (= —)

a0 €TV QAIRIR AYQ QYA 6 Qo AR AEIFEA 396 ATQ 6 352 ACQ QY. ¢06q Agiq 9a
6960 7 (n =—)

(A) Tm : (B) 14m (C)21m _ (D) 28m

66. The volume of a cylinder is 1232m If the area of curved surface is 176m?, then f‘nd out the
circumference of its base? (i = '—)

61y QQ@QQ QQ% 1232 Q.8. | 8@ YeIQ R JEeRA G@Qﬁﬂ? 176 Q4. Q‘ﬂ. 606Q QQQ QQUV
€REQ 7 (m==2 7

(A) 22m | (B) 44m
(C) 88m (D) 196m

- =¥ AN A
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67.

68.

69.

70.

71.

T

73.

17
If 0.863is converted into a rational number, find out he number?

0@ 0.863 q €aIS AQAA AWMIca AGAER AN, 06 EMIF caeo 2

: 13

(A)‘ . B) 5
863 19

o) e . (D) s

1000

= s -1
Find the value of (%Jz x 643 x[l—;-] 9

! 2

A 2 -1
[%]2 x 643 x(lé] @ AR Gda qa?

(A)4 - (B)8 L (©) 16 (D) 32
(;:;*':‘) ;_—y-;f—vj= 2

(A)g o (B)3

©1 (D)2

If 2%%2 x 3%-2= 96, find the value of x.
90 2%%2 x 3%"2= 96 Q¥, x @ ARH A QR ?

(A1 Co®2. ©3 - (D4

If x:4=3 :4,1henwhatisth’cva1ﬂe6f‘( 3x—y):i(x+2¢4)7
A0 x:9=3:490,606Q (3x-4):(x+24)a RN €60 7

(A)5:11 ‘ : | (B)11:5
(C)16:55 o4 (D)55: 16

If the side of an equilateral triangle is decreased by 2cm, its area is decreased by 11\/_ cm’,
What is the height of the triangle?

a9 caIfy anaIg §Qea geeie Q19 dalq 2 caf. QAION. VIR c8eoR 11V3 o cad.
QAaY | §9eGQ a0l 6a6e ? .

(A)3v3cm "(B)4+/3cm

(C)5v3 em | (D)6 V3 em

) sinf@ | sin?@
+ =7
What is the value f s "

Q A Q60 7

Sin%6 4 Sin?6_ Sin%e
1+Cos@  1-Cos@

(A)O (B)% O 1 (D)2
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Find out the value of (0.04),
(0.08)7Q A Ada eQ ?

L (B) 2500
(C) 5000 (D) 10,000

What is the smallest number by which 13122 must be divided to make it a perfect cube?

13122 Q 696 §QAA Q6N QA QIS Q6R AIEIER Y@ gdan aetl 6ge 7

(A) 12 (@18 T )36 (D) 72

If each angle of a triangle is decreased by 10°, the ratio of three resultant angles will be6:4:5.
Fmd out the greatest angle of the triangle?
caIBa QA gEse cqlea aRAIaQ 10° cREId QAlcecn QeI 6@

QY | §QeQ 9285 CRISA A6 62667

EAIaER 2ReI9 6:4:5

(A)so° (B)60° R (o)), (D) 80°

at Rs )00 Out of total quantlty. 2 kg of apples were

A fruit seller purchased 20 kg of apples
les to get a profit of 20%?

rotten. At what price per kg he should sell the balance quantity of app
CRIEY e 6QIQIe1 200 @gl 66 300 QEieR adem | OQQ 2 QG_]J aol QRIaR | 2088 6a6 |.9.

gl €Q60 QR 9L, QER 8009 20 AQ 699 ?
(B)Rs. 20

(A) Rs. 36
(D) Rs. 15

(C) Rs. 18

A businessman gives 10% dlSCOLmt on the marked price of a watch. If the cost price of the watch
is Rs. 300, then find out the marked price to get a profit of 20%?
QcE 9] Q&ial 'EWG aa Qa6Q §9@el 10 QQIé 3o8 | agida @Qﬂﬁ]‘ﬁ 300 O&1 CREM COQ!

20 AIQ Clag! Qle Age AR 6REe 6Q9 ?
(B) Rs. 360

(D) Rs. 450

(A) Rs. 300
(C) Rs. 400

2 years, he withdrew Rs. 4000. At the end of 5

s. 9000 in a bank. Aﬁcr
he rate of simple interest per annum?

from the bank. Find out t
061 @Al 6ol | 2 Qf a6q 6€ 4000 ¢& QOI@MI | S Q8 6618661 [«

A person deposited R
years he got Rs. 7640

Q66 48 Ye QMIGEel 900
QHIGE) 7640 OGI QIQRI | 696Q Qlde aar QU QIQ 660 7

(B) 8%
(D) 12%

I

(A) 6%
(C) 10%
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80.  What will be the total compound interest for 9 months on Rs. 5,000 at the rate of 40% per
annum if the interest is compounded quarterly? '

5000 G6icQ QIEG E9QG1 40 089F QM QAR 9 AIAR CAIT QR QY CAEO €QQ. A5 3 allalo}
ZEQ 0998 qu qale Al ? |

(A) Rs. 1665 (B) Rs. 1655

(C) Rs. 1645 (D) Rs. 1630

81. The length of three rectangles having equal area are 24 cm, 12cm and 8cm. What will be the
ratio of their breadth? '

aAIR c8geR Q88 FeRIF R1006ERQR AR 24 cad., 12 caf. 6 8 cad. ] 6069 €QIREA 9LQ
2ARAIT CREE 6QQ ?

(A)3:2:1
(C)2:1:3

BY2:3.x0
.(D)1:2:3

a

82. A cube of wood of side 12cm was cut and formed into a lar

gest sphere. Find out the volume of
. the sphere?

12 ca 4. Qig Q88 €alITY AAARIRIR QI0GAT] FIT Y9 9Raf Cainaca adee QAR | CTIRARQ

Qe 4Q @Q |
(A) 288 1 em’ 5t g " (B) 864 tcm®
(C)2304 mem® , - (D) 6912 7 cm’

83. Asim purchased rice of Rs. 800. He sold %:h out of'purchascd rice at a profit of 10% and rest part
at a loss of 10%. Then find out the percentage of profit or loss in selling of total rice?

(A)2.5% Loss - . (B) 5% profit

(C) 7.5% profit . 5 (D) 10% Loss |
28n 800 Gacq ClaR FE6R | QEEQI.FIRA %aﬂa@ 0901 10 AIGER G UREE 2°aQ 60981 10
806q 08 Q6 | E6Q AAG G1aR FCA GIGW F0Q9I 6AEO AIA A1 8T 62l ?

(A)2.5% 96 ' ', (B) 5% QIQ

(C) 7.5% e (D) 10% 8§

84, A seller ;narked a price of Rs 460 on a cycle and sold it giving 25% discount. If he got 15%
profit, then find out the cost price of cycle purchased by him?

@66 6QIQIAT Y@ QAR QUCA 460 O@ QIF cREEEA Ye* 66901 25 QQIT cea §§ Q6R | cQéicq
Ol 60901 15 AN AIRELR | ANCAATR 6 660 AR BG6R 7.

(A)Rs. 414 “ (B) Rs. 360
4 (C)Rs. 300 L (D) Rs. 200
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----------------

X6 6X7 7x0
et e 16 § 00 0078 URQAA CAIGER 6960 ?

85.* Find out the sum of the sequence of =+ .. up to 16" terms?

5X6 6X7 7x8

16 20 ’
(K | B J
© . 7 T R ()

A

86. A finished —0 of a work in 9 days for colourmg, of a house. A and B together completed rest
work in 7 days. If B alone works, how many days he would have taken to complete the entire
work? - :

A GRISY QQ Q& 6QQI QIR 9 OWGQ e EJ“Q QU CEE Qml | A €Q B {4 eediey QAR 7 Qa6a )
Qa1 606e @ B ¥ 0] /a3, GE] QaQIL, ﬁ?lﬂ‘?—ﬁi €60 QQGQ 6618 QAAGER ?

!

(A)30 ' | (B2
(C) 16 R (D) 15
87. If gjf =a+bV6, then find out ‘the value of @ and b ? _ .
0 2 = 3 4+ byVB QY. 6060 2 6 ba AGH 6960 ?
7 3 vy 1 - ; 7 —3

'(A)g,g | _ 2 (B)o <~

T w=7 3 . ‘ ' it P ) -7 -3

©) =3 L _ 4 (D)?’?»'

88. A batsman makes a score of 95 runs in the 16" innings and thus increases his average by 4 runs,
Find his average runs after 16™ innings?

Q66 IGAPHIR, GIGR CBI04 aIPeq 95 QR Qa8 G VEaId elea QaIid QR 218 4 98 QU | €06
ole CBI08 AIF 96a YRR QR 6607

(A) 35 : (B) 34
()33 N DR

89. A boat man can row Skm against the stream in 30 minutes and return in 20 minutes. Find the
rate of current?

@66 RIaQ1 6910 g8QRea 30 Adeca 5 @4 auqm AIRaIag 6 20 mom CORENRS | 6QI10Q 696
EQE0 7 :

(A) 2km/hr (B)2 % km/hr

(C) Skm/hr

‘(D) 7% km/hr
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'90. Three numbers are in the ratio 4 : 5 : 6 and their LCM is 4500. What is their HCF?
SIS QEHIQ ZRAIT 415 : 699 CARIAER ALY 45001 636Q CARIAGA 611G, 6a60 ?
(RaRe | (B) 60

91. A mixture of 200 litres of milk and water contains 10% of water. How much more water should
be added so that water becomes 20% of the new mixture?

200 ACQ QU 6 AlfQ Ve fgeca @06l 10 aifl 28 | V@ FgeQ 2ia ¢aco aId fdacn aidq
erel 69Q0I 20 699 ?

(A) 10 litres "(B) 20 litres
(C) 25 litres _ (D) 40 litres

92. A wire can be bent in the form of a circle of radius 28¢m. If it is bent in the form of a square,
then what will be its area? (n = —)
€GN PlaR 28 ca.d. ad 3§89 Q@ E‘Ji@@GQ G‘Gﬂ QQIQI@GIGQ | a8 ¥ Qe e QGTSGQ
29060 961 SRV, 6960 VQIQ CHYR 66D ? (n=7) '

(A) 1089cm? . " (B) 1936cm’
(C) 3025cm’ : (D) 4356cm?

93. The average age of a husband and his wife was 25 years at the time of their marriage. After six
 years, they have a one year child. What is the average age of the family now? i

@cel QI G QAR QQIQ AATEQ QIAIQIA 904 25 Al | 98 9F dca. e GQIG“G e
oda &g 28 | eAAIe A6QIaa QAIQIE eaQ Ca6e 7

(A) 19 years - _ (B) 21 years

(C) 23 years ' . i - 77 2(D) 25 years

e . R :
94. A boat can move 9km/hr in st111 water. If the river is running _:km/hr, it takes 90 minutes to

move to a place and back. How far is the place?
caiy calal 8o enea aal g 9 8.8, cadica 98 @aIa | A7 RL1A 6910 A&l g6 3 @.4. cecea
oG acq. Y2l CaIGY 219g 615 adel 6 caRiel ala 90 ARG Ao, A9 | €0ce IRTA Q0! 6R50 7

(A)3 Km (B) 4 Km _ (@6 K@ | | (D)9 Km

g5. If the simple interest on a sum of money at 10% per annum for 3 years is Rs. 1500, find the

compound interest on the same sum for the same period and the same rate.

06 cFl6@ ARUAQ F0RGI 10 QIAEA 3 2HQ QARG 1500 OG qv 6060 6aQ ARYAG caR ara.
Auica €90 QY QIR6A 0agE QY CRCe (@ ?

(B) Rs. 1665

(D) Rs. 1685

(A) Rs. 1655
(C) Rs. 1675
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ning pages of that book

96. Hari read 7/15™ pages of a book in the-1* week and.5/12" of the remai
s were in the

in the 2™ week. If there were 56 pages unread aftér 2" week, how ‘many page
. book? — ‘

8 ceIEY @@Q 7/15 28 g8 ga qeca adem 6 ¢ag 9ga ede Q8 512 2d Q918
dUQea 98en | A7 §o1E, A a6 2Ia 56 g8l Gal 6Qla ReIY, 6667 a@q 6q60 g8 am ?
(A) 160 . (B) 180 |

(C) 200 . (D) 220

97. If the sum of two numbers is 42 and the HCF and LCM of these numbers are 6 and 72
respectively, then what is the sum of the reciprocals of the numbers? :
ag QG}G‘ el calcieR 42 G N[, E]°G1%I51@GPQ cdlg. G m.dl.gl. qegen 6 6 72 QY, 696Q

EIYTRQ OFARQ CAFER 6RER 7

SF RN C ®mZ
©5 ESTRE OF

98. From a point on a level ground the angle of elevation to the top of the tower is 60°. If the tower
is 346m high, what is the distance of the point from the foot of the tower? (v3=1.73)

GQ!G“G AneRea BQl caIgy QQQ aRIRA anda e:@ta@ QAR EJGIF\IQ 60°1 9Q RIRAQ ARG 346
. 9V, 6069 URIRIQ G!OGQQOIQ ‘&‘QG} QQ8! 6269 ? 3=173)

(A) 346v/3m _ j - (B) 173m
(C) 100m : ' _ - (D)200m

99. If60% off—z- of a number is 9.5, then find out the number? _
5 = .
e g E Q @999l 60 JQ 9.5 g¥, 606@ aGiH1e €REQ ?

(A) 380 — - (B)95
(C) 38 . - (D)3.8

100. A invested 20% more than B. B invested 25% less than C. If the total sum of tht:Ir investment is
Rs. 2650, how much amount did ‘B’ invest? |

A, B0OIQ 6686l 20 aY@ 2d §caiq @em | B, C 26asl 60901 25 an 2] ddcals @ | 98
canipaR anelg, 2g 8hcalca Qa8 2650 @&l Y, 606 B @ el dfeaigin AGAIE 6R60 ?

(A)Rs.750 ~ (B)Rs. 900
(C)Rs. 1000 _ ' (D) Rs. 1340
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